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3.1 EAKRHEMH

KX OOODODOOO0ODODOOO0OO00000000mathematicsd O
UooobobobDoOoooodNO VO $0 $00 \begin{math} [J
\end{math} 00 0O O

Add $a$ squared and $b$ squared

] Add a squared and b squared to get ¢ squared.
to get $c$ squared. Or, using

Or, using a more mathematical approach:

a more mathematical approach:
PP 2=+ b2

$c{2}=a"{2}+b"{2}$

\TeX{} is pronounced as TEX is pronounced as 7Tey.
$\tau\epsilon\chi$.\\ [6pt]

100"m$"{3}$ of water\\[6pt]
This comes from my $\heartsuit$ This comes from my ©

100 m? of water

0000000000000 00000&=A#00000000
OO N[O \] O \begin{displaymath} [J \end{displaymath} U0 OO
O00000b0o0o0DbO000Db00D MIXoooobooooboo
U0 equation OO0 OOOOOO
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Add $a$ squared and $b$ squared

to get $c$ squared. Or, using Add a squared and b squared to get ¢ squared.

a more mathematical approach: Or, using a more mathematical approach:

\begin{displaymath}
c~{2}=a"{2}+b~{2}
\end{displaymath}

And just one more line.

2 =a?+b?

And just one more line.

OO0 \label O \ref D OO OO0OOO

\begin{equation} \label{eq:eps}

\epsilon > 0

\end{equation} €>0 (3.1)
From (\ref{eq:eps}), we gather From (3.1), we gather ..

\1ldots

gggobobbooooooobobo

$\1lim_{n \to \inftyl}
\sum_<{k=1}"n \frac{1}{k"2} lhnn—mw§jzzlé%1: %;
= \frac{\pi~2}{6}$

\begin{displaymath}

\lim_{n \to \infty} "oy )
- - . ™

\sum_{k=1}"n \frac{1}{k"2} nlg{;ozﬁ =%

= \frac{\pi~2}{6} k=1

\end{displaymath}

FHFEXODIAEXOO00DO0O00DOOOODOOOOOO

1. 000000000000000000000000000000
000000000 \,0\quad0 \qquad 0000

2. 0dbobooobuooboobbooboon

. 000000odd000oouooboobbbbbbuooooooUoo
goooouooooobbbbbbboooooooooooooon
O \textrm{.. . 200000000

\begin{equation}

\forall x \in \mathbf{R}:
\qquad x"{2} \geq O Ve R: 22 >0 (3.2)
\end{equation}
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\begin{equation}

x~{2} \geq O\qquad
\textrm{for all }x\in\mathbf{R} 22 >0 forallz € R

\end{equation}

000000000000 0o0ooOoOoOooooooooO: =il
$H1K” Oblackboard bold0 O DO O ODOODOODOOOOO amsfonts O
amssymb OO O OO0 \mathbb 0D O OO OO OO0 OOOO

\begin{displaymath}

x~{2} \geq O\qquad ,
\textrm{for all }x\in\mathbb{R} =20 for all z € R

\end{displaymath}

3.2 HEEAFRISHE

gooboooobobuoooobobuoooobboooooo
gboboobobooboboobboobbooboboooboon
ood...x0

\begin{equation}

a"x+y \neq a”{x+y} R
\end{equation}

(3.4)

3.3 BEiaHFANIELR

ddoooooooooonooooooooooooooooon
ogooodoson0d 31000

INEFHFEFED Lowercase Greek letters [ 0 0 0 0 0O 0 O \alpha,
\beta, \gamma, ... 00 000000000O0O0O0OO0ODO\Gamma, \Delta
...02

$\lambda,\xi,\pi, \mu, \Phi, \Omega$ ANE o,

A THROD "0 _ 00000000000

BMIEX2: 0000 Alpha 0000000000000 D0D00O0 ADOOOODOO
gbooooobooogn
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$a_{1}$ \qquad $x~{2}$ \qquad
$e~{-\alpha t}$ \qquad ay 22 e—at a3
$a~{3F_{ijF$\\ e®” o o2

$e~{x"2} \neq {e"x}"2%

FAROsquare rootU D 00000 0\sqrt0n D0 O0O00O0OO:
\sqrt[R]O0 00000000 WIgXOOOOOOooo0OoOOd \surda OO

ooo
$\sqrt{x}$ \qquad
$\sqrt{ x~{2}+\sqrt{y} }$ v 2y V2
\gquad $\sqrt[3]1{2}$\\[3pt] VIz? + 92
$\surd[x"2 + y~2]8$

00 \overline O \underline 00O 0O0OO0OOOO0OOOOOO

$\overline{m+n}$ \qquad

m-+mn m-+n
$\underline{m+n}$

0 O \overbrace  \underbrace 00 OO0 0OO0OOODOOOOOO
good

a+b+--+z
~—_———
26

$\underbrace{ a+b+\cdots+z }_{26}$

O0oooooooog-dtlded 00000 OOOoOOg 50000
0 3.10000000000000000 \widetilde O \widehat [ [J
0000 000 0 primed O

\begin{displaymath}
y=x"{2}\qquad y’=2x\qquad y’’=2 y = 22 y =2 y' =2
\end{displaymath}

B E0 VectorsO 00000000 O Oarrow symbolsd O 0O O O
00000 \vecDOUODOODOODO \overrightarrow [J \overleftarrow
00dO0 A0 BOOOOOOOOO

\begin{displaymath}

\vec a\quad\overrightarrow{AB} i AB
\end{displaymath}

gobogoobooobboobboobboobboobboo
ubooobooboobobdgbdgibN\edotU0oooooon
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\begin{displaymath}

v = {\sigma}_1 \cdot {\sigma}_2
{\tau}_1 \cdot {\tau}_2 V=01 02T T2

\end{displaymath}

gdddddodooouoooooooooooooooooooon
oo BMXoooooooooooboobooooo

\arccos \cos \csc \exp \ker \limsup \min
\arcsin \cosh \deg \gcd \lg \1n \Pr

\arctan \cot \det \hom \lim \log \sec
\arg \coth \dim \inf \liminf \max \sin

\sinh \sup \tan \tanh

\[\lim_{x \rightarrow 0} . sinz
\frac{\sin x}{x}=1\] 10 T

O00000Omodulo functionD O OO OO O\bmod DO OO OODO
“amod b"O\pmod DO ODO0O0O0DOD0 “z=a (mod b)”0

¥ 0 fractiond 0 0 \frac{...}{...3 000000001200
cobooboobooboobobobobobobobon

$1\frac{1}{2}$ " hours

\begin{displaymath} 1

\frac{ x~{2} } k+1 F\qquad 13 hours

x~{ \frac{2}{k+1} }\qquad x? T 2172
x~{ 1/2 } kE+1
\end{displaymath}

gooooooobobobbobooooogd {... \choose ...} 0
{...\atop ...} bobbooboobooo
030

\begin{displaymath}
{n \choose k}\qquad {x \atop y+2} (Z) i.2
\end{displaymath} Y

O0000000000000000000O\stackrelJOOOO
Oo0ooo0ooooooooboooooooooo
‘00000000 amsmath 00000000000 \binom \genfrac(

O00DDD000O00D0O00000000000 \newcommand{\newatop} [21%
\genfrac{}{}{opt}{1}{#1}{#2}} D00 \atopJ O OO OO0
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\begin{displaymath}
\int f_N(x) \stackrel{!}{=} 1 j[fN(x)ézl
\end{displaymath}

MMIEEFFO integral operator( 0 \int 0 0 0 O kFAZHE O sum

operator(] 0 \sum 0 0 0 EFiZHE 0 product operator] (I \prod [
00000000 ~0 _0000000000o0o4m

\begin{displaymath}
\sum_{i=1}"{n} \qquad "

[NE]

\int_{0}"{\frac{\pi}{2}} \qquad
\prod_\epsilon i
\end{displaymath}

1 jﬁ II

€

O00%FS0bracesd 000000 0 delimitersd 00 TeXO OO OO
0000000 [(|| (0000000000000000000000
UN\{bobobobdobobO0bd \updownarrow 0 OOOOOOO0
oooooooooon s20000 3.80

\begin{displaymath}
{a,b,cH\neq\{a,b,c\} a,b,c # {a,b,c}
\end{displaymath}

UdddONleft 00000000 TXDODDODOOOOOoooo
Uobobooooobboboodd\right UOO0DO0OO0O0O0O \leftd O
oo UUOo
U0O0Oo0obOoOobOodn \right.’!

\begin{displaymath}

1 + \left( \frac{1}{ 1-x~{2} } 1 3
\right) "3 1+ <]—.r2)

\end{displaymath}

000000000000000000000000000000
\big, \Big, \bigg 0 \Bigg 00 0000000000050

TAS-EIEXO000000/000
0000000000 D000DDO MptD12pt 00000000 DOOO0DODOO
000000 exscaled amsmath O O OO OO0 OO0
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$\Big( (x+1) (x-1) \Big) ~{2}$\\ 2

1 —1
$\big(\Big (\bigg (\Bigg($\quad (@ + 0@ - 1)
$\big\}\Big\F\bige\}\Bigg\}$\quad (<<< }}}} ”HHH
$\big\ | \Big\|\bigg\|\Bigg\|$

O0=/MEmOthree dots0 DD DD 00000000 DO\1dots OO
U0000OONcdots D O0UODOOOODOOODDOOODODO \vdotsU OO
000000 \ddots 0 0 000 O Odiagonal dotsD OO 3.500000
oooon

\begin{displaymath}

x_{1},\1dots,x_{n} \qquad
x_{1}+\cdots+x_{n} L1yeoyTp T+ -+,

\end{displaymath}

3.4 HFTH

000000 TEX0O00O0000000000000000000
D0000000000000000000\,000 & quad (), \: O
00 Aquad ()0\; 000 & quad ()0 0000000\, 000000
0000 \quad (L)) 0 \qquad (___ ) 000000\quad 0000000

000000 “M0000\ 0000000 -2 quad (1)0

\newcommand{\ud}{\mathrm{d}}

\begin{displaymath}

\int\'\'\\int_{D} g(x,y) // g(, y) da dy
\, \ud x\, \ud y b

\end{displaymath} instead of

instead of
\begin{displaymath} u/:%;g(w,y)dxdy
\int\int_{D} g(x,y)\ud x \ud y

\end{displaymath}

doooobo«dooooooooga

AVGS-EIEXO OO OOO0OOoOO0ooOoooooobooobooobooono
\iint, \iiint, \iiiint 0 \idotsint 0 O O O O O amsmath O 0O O O
oooooooooooboobon
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\newcommand{\ud}{\mathrm{d}}
\begin{displaymath} / dz dy
\iint_{D} \, \ud x \, \ud y D

\end{displaymath}

O00000000000D0 testmath.texD O 00O ApS-ETEXDO O
0 “The LaTeX Companion” 00 00O O

3.5 FEENT

00 arrays 00 array D 000 0 #4B0arrays0 0O 00000
Otabular0 0000 \\NODOOODODO

\begin{displaymath}
\mathbf{X} =

\left( \begin{array}{ccc}
x_{11} & x_{12} & \ldots \\
x_{21} & x_{22} & \ldots \\
\vdots & \vdots & \ddots
\end{array} \right)
\end{displaymath}

T11 Ti12

X = T21 T22

arrayU O Q04OQooO «.”7ogobdobodboooobooobon
googn

\begin{displaymath}

y = \left\{ \begin{array}{11}
a & \textrm{if $d>c$F\\ a ifd>c

b+x & \textrm{in the morning}\\ y=14¢ b+x in the morning
1 & \textrm{all day long} l all day long
\end{array} \right.

\end{displaymath}

U0 tabular DO O0O00D0D0D0D0OD0 array 00 0onooooOoOO

goooon
\begin{displaymath}
\left (\begin{array}{clc}
1&2\\

. 112
\hline (%)
3&4 314
\end{array}\right)

\end{displaymath}
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000o0odododdoddaondequation systemd O O O 0O O
eqnarray U eqnarray* U U 00O equation U egnarray 0 0 O OO0

U000 00O0OOegnarrayx U OO OOOOON

eqnarray U eqnarray* U0 000 {rcl} 000O0OOOOODODODODO
gobobbbooobbboouobbboooobbbooooN\N\boo

HEN

\begin{eqnarray}

f(x) & = & \cos x A\
£2(x) & = & -\sin x \\
\int_{0}"{x} f(y)dy &

= & \sin x

\end{eqnarray}

f(z) = cosx

() = —sinzx

f'()
/0 [y = sing

O0000D0000D0000D0O000D \setlength\arraycolsep{2pt}

gogoboboboodooooonon

KF#E0ODODDOD00D0oO0D0o00o0o0ooo0oooooooooono

gogoobooboodooooon

{\setlength\arraycolsep{2pt}
\begin{eqnarray}
\sin x & = & x -\frac{x"{3}}{3'}
+\frac{x"{56}}{5!}-{}
\nonumber\\
& & {3-\frac{x"{7}}{7!}+{}\cdots
\end{eqnarray}}

\begin{eqnarray}
\lefteqn{ \cos x = 1
-\frac{x"{2}}{2!} +{} }
\nonumber\\
& & {}+\frac{x"{4}3}{4'}
-\frac{x"{6}}{6!}+{}\cdots
\end{eqgnarray}

2

cosa::l—i—&—

(3.9)

\nonumber 0 0000 BKIEXODOOOOOOOOOO
ddooooouooooobobbbbOlamsmathO0ooooono

00000 split 0 align 0000
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3.6 %1%

00000000 phantomD 0000000000 O0O0ODOO0ODO
oo yXobooboooooobooboobuoobooooo

gogoboooooDb -0 OkgXdbobooooboboooo
\phantom J OO0 O0OODOO0ODODOO0O0O0O0O0O0OOODODODOOOOO
gooogo

\begin{displaymath}
{}~{12}_{\phantom{1}6}\textrm{C}
\qquad \textrm{versus} \qquad 12¢
{3~{12}_{6}\textrm{C}
\end{displaymath}

versus gc

\begin{displaymath}
\Gamma_{ij}~{\phantom{ij}tk}
\gquad \textrm{versus} \qquad ng Versus FE
\Gamma_{ij}"{k}

\end{displaymath}

3.7 HWFFHEK

0000000 EXO000000000000000000000
0000000000000000000000000000 \textrm
000000 \textrmO0 0000000000000 O0O0O0O0O0O0OO
000000 wathrm OO OOO0O0O0O00000O0O0O0O0O0O0O0O0OO
O0wmathrm 000 0000000000000 O0O0O0OOOOOOO
00ooooeo

\begin{equation}

2"{\textrm{nd}} \quad
2" {\mathrm{nd}?} gnd - gnd (3.10)
\end{equation}

UobooobodobU X obooboooboboooboooo
oooooooooon

SAVS-BTEXO OO0 \textrm D 000000000000



\displaystyle (123), \textstyle (123), \scriptstyle (123) and
\scriptscriptstyle (123).

goobbobboooooooboo

\begin{displaymath}
\mathop{\mathrm{corr}} (X,Y)=

\frac{\displaystyle

\sum_{i=1}"n(x_i-\overline x) n

(y_i-\overline y)} jg:(wi—‘iﬂ(yi—'ﬂ)

{\displaystyle\biggl[ corr(){7 Y) = — i=1
\sum_{i=1}"n(x_i-\overline x)~2 [j{:(miﬁ)zjz:@h

\sum_{i=1}"n(y_i-\overline y)~2 i=1 i=1

\biggr]~{1/2}}
\end{displaymath}

OobodooobooboOodibd \leftl \rightlDOOOOOO
g
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\newtheorem{name} [counter]{text} [section]

nome O OO0O0O0O0ODO0O O0O" Otext 0O OO DODOO
gboooboooboboooboon

gbobooboooooobobobo* oo goboobo
OOcounter U0 ODOOODOOO" OO O nameDOO0O" OO O
UoobobbObOOOsection DO OO ODODOODDOOOOO

UO0O0O0D0D0DOD0OO \newtheoremUU OO OOOOOODOODODODO
oo

\begin{namel [text]
This is my interesting theorem

\end{name}

gboooboobooboboooboobogboobonoo
U0 \newtheoremJ OO OO OOOOOODO
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% definitions for the document
% preamble
\newtheorem{law}{Law}
\newtheorem{jury} [law] {Jury}
%in the document

\begin{law} \label{law:box}
Don’t hide in the witness box
\end{law}

\begin{juryl} [The Twelvel

It could be you! So beware and
see law™\ref{law:box}\end{jury}
\begin{law}No, No, No\end{law}

Law 1 Don’t hide in the witness box

Jury 2 (The Twelve) It could be you! So

beware and see law 1

Law 3 No, No, No

“YJury’ D00 “Law” OO0 DO O0O0O0O0OO0OOOOOOOOOOOOO
ggogobbbbboodoooobbobbodooooobon

\flushleft

\newtheorem{mur}{Murphy} [section]

\begin{mur}

If there are two or more
ways to do something, and
one of those ways can result
in a catastrophe, then

someone will do it.\end{mur}

Murphy 3.8.1 If there are two or more
ways to do something, and one of those
ways can result in a catastrophe, then

someone will do it.

‘Murphy” OO0 00000 ooooooooobobobooboooon

good

3.9 FAKFS

0O WpXO0OO0ODODODOoOD0O0o0D0OD0OD0O0O000000000ooo
0000000000000 \mathbf 000000000000 0O0O
0000000000000 00000D000 \boldmathO D OO0 X
R FHEFEX40000000000

\begin{displaymath}

\mu, M \gqquad \mathbf{M} \qquad
\mbox{\boldmath $\mu, M$}
\end{displaymath}

wM M pM

goobogobogbooboooboon
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0000000 amsbsyd OO O amsmath OO0 bmO O 00O O
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\begin{displaymath}

\mu, M \qquad
\boldsymbol{\mu}, \boldsymbol{M} w, M p, M

\end{displaymath}
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U31: 0000000

a \hat{a} a \check{a} a \tilde{a} a \acute{a}
a \grave{a} & \dot{a} G \ddot{a} a \breve{a}
a \bar{a} a \vec{a} A \widehat{A} A \widetilde{A}
032000000
« \alpha 0 \theta 0o o v \upsilon
B \beta ¥ \vartheta m \pi ¢ \phi
v \gamma ¢ \iota w \varpi ¢ \varphi
0 \delta rk \kappa p \rho x \chi
€ \epsilon A \lambda o \varrho 1 \psi
€ \varepsilon pu \mu o \sigma w \omega
¢ \zeta v \nu ¢ \varsigma
n  \eta & \xi 7T \tau
033 000o0od
I' \Gamma A \Lambda ¥ \Sigma ¥ \Psi
A \Delta = \Xi T \Upsilon € \Omega
© \Theta II \Pi ® \Phi

"000000 David Carlisle O symbols.texd 0 00O Josef Tkadlec 000000
oooon
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<

\leq or \le
\11

\prec
\preceq
\subset
\subseteq

\in
\vdash
\mid
\smile

(—TmInmmninnNIiL Ao AIANA

‘O000 latexsymO OO O OODO

+
\pm

\cdot

\times

\cup

\sqcup

\vee , \lor
\oplus

\odot

\otimes
\bigtriangleup
\1hd “

\unlhd ¢

\sgsubset ¢

\sgsubseteq

>

\geq or \ge
\eg

\succ
\succeq
\supset
\supseteq
\sgsupset ¢
\sqsupseteq
\ni , \owns
\dashv
\parallel
\frown

A ) = L widUIJUUIY Y VIVV

\notin

035 00000

_H

vvgaOeo ® >3D—

\mp

\div
\setminus
\cap

\sqcap

\wedge , \land
\ominus
\oslash
\bigcirc
\bigtriangledown
\rhd ¢

\unrhd

2

12

EFT R X X IR

¢

RN

~ 4+ =+ 0 E © @ 0 ¥ * V A

\equiv
\doteq
\sim
\simeq
\approx
\cong
\Join ¢
\bowtie
\propto
\models
\perp
\asymp
\neq or \ne

\triangleleft
\triangleright
\star

\ast

\circ

\bullet
\diamond
\uplus

\amalg
\dagger
\ddagger

\wr
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FTT T LT

[

S~ e~ —

036000000

> \sum U \bigcup \/ \bigvee &b
[T \prod (1 \bigcap /\ \bigwedge &
[T \coprod |] \bigsqcup ©)
J \int § \oint !
g 3700
\leftarrow or \gets —— \longleftarrow
\rightarrow or \to —  \longrightarrow
\leftrightarrow «—— \longleftrightarrow
\Leftarrow <= \Longleftarrow
\Rightarrow = \Longrightarrow
\Leftrightarrow <= \Longleftrightarrow
\mapsto ——  \longmapsto
\hookleftarrow — \hookrightarrow
\leftharpoonup —  \rightharpoonup
\leftharpoondown — \rightharpoondown
\rightleftharpoons <= \iff (bigger spaces)
“0000 latexsym 0000000
038 000
( ) T \uparrow
[ or \1brack ] or \rbrack | \downarrow
\{ or \1lbrace \} or \rbrace | \updownarrow
\langle \rangle | | or\vert
\1floor \rfloor [ \lceil
/ \backslash . (dual. empty)
039 000000
[ \lgroup \rgroup
| \arrowvert | \Arrowvert | \bracevert

\bigoplus

\bigotimes
\bigodot
\biguplus

NS N Es o e o

= e

\uparrow
\downarrow
\updownarrow
\Uparrow
\Downarrow
\Updownarrow
\nearrow
\searrow
\swarrow
\nwarrow
\leadsto °

\Uparrow
\Downarrow
\Updownarrow
\| or \Vert
\rceil

I \1lmoustache 1 \rmoustache
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0 3100000

... \dots -++ \cdots : \vdots . \ddots
h  \hbar ¢ \imath 7 \jmath ¢ \ell
R \Re S \Im N \aleph e \wp
vV \forall 3 \exists U  \mho ¢ 0 \partial
roo /' \prime ) \emptyset oo \infty
V  \nabla A \triangle O \Box ¢ < \Diamond ¢
L \bot T \top Z \angle v/ \surd
{ \diamondsuit Q  \heartsuit & \clubsuit A& \spadesuit
= \neg or \lnot p  \flat 7 \natural f  \sharp

‘0000 latexssymO OO OOOO

0311 g0o00dd

goobobooboooooooon

T \dag § \S (© \copyright
I \ddag 9 \P £ \pounds

O 3.12: AMSOOO

™ Nulcorner ' \urcorner . \llcorner  \lrcorner
| \lvert | \rvert | \1lVert | \rvVert

0 3.13: AMSODOODOODODO

[ \digamma s \varkappa 3 \beth 1 \daleth J \gimel
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\lessdot
\legslant
\egslantless
\leqq

\111 or \1lless
\lesssim
\lessapprox
\lessgtr
\lesseqgtr
\lesseqqgtr
\preccurlyeq
\curlyeqgprec
\precsim
\precapprox
\subseteqq
\Subset
\sgsubset
\therefore
\shortmid
\smallsmile
\vartriangleleft
\trianglelefteq

\dashleftarrow
\leftleftarrows
\leftrightarrows
\Lleftarrow
\twoheadleftarrow
\leftarrowtail
\leftrightharpoons
\Lsh
\looparrowleft
\curvearrowleft
\circlearrowleft

0 3.14: AMSOOODOO

L W HURY Y Y Y AIIVAIVAY RV LV v v v v Vv

|
i vV vV )

cof =1l LUl

\gtrdot
\gegslant
\egslantgtr
\geqq

\ggg or \gggtr
\gtrsim
\gtrapprox
\gtrless
\gtreqless
\gtreqqless
\succcurlyeq
\curlyeqsucc
\succsim
\succapprox
\supseteqq
\Supset
\sgsupset
\because
\shortparallel
\smallfrown
\vartriangleright
\trianglerighteq

0 3.15: AMSO 0O

\dashrightarrow
\rightrightarrows
\rightleftarrows
\Rrightarrow
\twoheadrightarrow
\rightarrowtail
\rightleftharpoons
\Rsh
\looparrowright
\curvearrowright
\circlearrowright

> 1o H

- X

S

F T TS

V A S><XQRQ v

A =

\doteqdot or \Doteq
\risingdotseq
\fallingdotseq
\eqgcirc

\circeq
\triangleq
\bumpeq

\Bumpeq

\thicksim
\thickapprox
\approxeq
\backsim
\backsimeq

\vDash

\Vdash

\Vvdash
\backepsilon
\varpropto
\between
\pitchfork
\blacktriangleleft
\blacktriangleright

\multimap
\upuparrows
\downdownarrows
\upharpoonleft
\upharpoonright
\downharpoonleft
\downharpoonright
\rightsquigarrow

\leftrightsquigarrow
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0 3.16: AMSOOUOODOOODDOOO

\nless

\1lneq

\nleq
\nlegslant
\1lneqq
\lvertneqq
\nleqq
\1lnsim
\1lnapprox
\nprec
\npreceq
\precneqq
\precnsim
\precnapprox
\subsetneq
\varsubsetneq
\nsubseteq
\subsetneqq

\nleftarrow
\nLeftarrow

$ 3 UL U AU QY Y 1Y TSRV RV ILHY KV WY W

\ngtr

\gneq

\ngeq
\ngeqgslant
\gneqq
\gvertneqq
\ngeqq
\gnsim
\gnapprox
\nsucc
\nsucceq
\succneqq
\succnsim
\succnapprox
\supsetneq
\varsupsetneq
\nsupseteq
\supsetneqq

\nrightarrow
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\nRightarrow
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\dotplus

\ltimes

\Cup or \doublecup
\veebar

\boxplus
\boxtimes
\leftthreetimes
\curlyvee
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\centerdot
\rtimes

\Cap or \doublecap
\barwedge
\boxminus

\boxdot
\rightthreetimes
\curlywedge

\varsubsetneqq
\varsupsetneqq
\nsubseteqq
\nsupseteqq
\nmid

\nparallel
\nshortmid
\nshortparallel
\nsim

\ncong

\nvdash

\nvDash

\nVdash

\nVDash
\ntriangleleft
\ntriangleright
\ntrianglelefteq
\ntrianglerighteq
\nleftrightarrow
\nLeftrightarrow

\intercal
\divideontimes
\smallsetminus
\doublebarwedge
\circleddash
\circledcirc
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\circledast
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\hbar h  \hslash k  \Bbbk
\square B \blacksquare ® \circledS
\vartriangle A \blacktriangle C \complement
\triangledown V¥ \blacktriangledown o \Game
\lozenge ¢ \blacklozenge * \bigstar
\angle £ \measuredangle < \sphericalangle
\diagup . \diagdown \ \backprime
\nexists 4 \Finv @ \varnothing
\eth U \mho
0 319: 0000

o0 00 oooo
ABCdef  \mathrm{ABCdef}
ABCdef \mathit{ABCdef}
ABCdef \mathnormal{ABCdef}
ABC \mathcal{ABC}
o BE \mathcal{ABC} mathrsfs
ABC \mathcal{ABC} eucal with option: mathcal or

\mathscr{ABC} eucal with option: mathscr

ABE0ef  \mathfrak{ABCdef} eufrak

ABC \mathbb{ABC}

amsfonts or amssymb



